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1. If f(z) =cot - csc z, then f’ (%) =

/ 2
5{(@ - )-7@6&2.(&%)4- cscx. (—¢sen)

(a) —3v2 L :
b) 3v2 _ —cssx. Lot — SCX

( ). n — (=)
o ) i VT = 3V
(d) —2v2

(e) V2

2. If f(z) =In(32z° + z + 1), then f/(0) =

/ é‘)l«l—‘ . /[o):/],
(a) 1 () = . {

f 3xtyrd) ’

(b) 0
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1
3.  Consider the equation (y? — 1)z? + y® = —. What is the
x
value of ¢ at y = —17

(@) ~1 (450 + <(95) 3970’ -
B 2 &gz =yl et

(c) 0 W; (o)(/L)J,(Q (/zj) *U: -+
(d) 1 D’;««

4. Ifx’4+ay+y® =1, then ¢/ =

3')¢+7<)+ +‘7“77

/(7\4,27), /(,7.%7"?)

(a) —6/(zx +2y)°

(b) (22 +v)/(z +29)° _ 2xe
(© —3z/(z+2y) e X+
(d) 2/(x+2y)° 9" - (Mf%
© (& + )z +20) (x+29)
Fr ayegpr 35~ Bye by
= -2
)”:, 57‘*41“‘“2 (x+29)
(X+bj) (x+27) (»)” - _ 29 sy
(x+29)™
A P Gas)!

K+ 2y

AN (x+25)

0 = = 32Gt29)rd, (2xr9)
X +29)3
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d.

3
Find the value of the constant ¢ such that y = 5 T+61s
tangent to y = c\/x :

(a) 6 <j L <
- ot
(b) 4 At x=-a ﬂgi.‘kﬁfﬁm&f'“ e
4 wiﬂﬁ]:c(f;—f =) cVa=2a+l
() — o Eﬁjé
(d) —6 2V a

(a) 4 x. Sis 4. 51\1(4’&)
() 1 [5G 5o e
(c) 1/4

(d) 0

(e) Does not exist
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7.

If h(z) = i x; with ¢ (g) =1 and A/ (g) = —2, then

9(z)
q (5) is : ?(,)(); ’)(éi‘n%[m) / |
?//7*)'— (Siny s xeox)blx) = & (x)xsliax
(a) 6/m %l(x)
b) —6/r ~
() 6/ ?[l/‘&):;i __:96‘(}1/):% ‘T
(¢) 0 ?/[T}) (140) (Z) _ (-9
= //
o ] 7
(e) —4/m B Z’/‘%/ :;é?

The point(s) (z,y) on y = at which the tangent

line(s) is (are) perpendicular to y = 5z — 4 is (are):

k-1
(a) (0,0)and (10,2) s w%,?ojéla/w ek s be csud L
(b) (0,0)only 2/: C)l_—'/r)’:ﬁ' — /S: =) //S.-b.:'),})
(c) (5,2)only ()(_r)v (X'S’)} (x=5)

z e
(d) (10,2)only =) (x )= 2 %y =
(x-5)="% D7 ° %7

(e) (0,0)and (5,2) P =) X =I° ﬂj =
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9.

10.

An equation of the tangent line to the curve y = ¢z — z°

at z =1 is:

Z
(a) 8z + 3y =8 %/: 2’% /3/3)‘ ) 8() =0
(b) 3z +8y =3 b x =1 ]/’ J;‘S; -4
(c) 8z —3y=38 (ﬂ (7.]0); m (X =X )
(d) 3z—8y=3 7= «%‘(x—ﬁ
(e) —3z+8y=3 =) 3)= -Ex+8

A particle moves according to the position function

s(t) =t?e~t; t > 0, where t is in seconds and s is in meters.
What is the total distance traveled by the particle during
the first 6 seconds?

-

s s[P= et e
. k(b

v+)z S(H=0 # t-

o o 'l':?/&&(,-

c) 4e? . , .

() $(v) =© ,'3(2)’46 —;)q}1;/+c~0/—,4e/
g6 ) i

o 56)= ?4@-£-£) d :/%e‘/ 4e /

(e) 8e™? 2

. L
- /3‘8
d = ‘4’5

- £
oy

_3be
7) d;d' +d2/: g(/
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11.

12.

If F(z) = 3f(4€) - cos z, and f'(4) = —71 then F'(0) =7

@ o Flo)= 31 (48). (4 Jerr t 3f(ae)(-510
(b) -3 /, —$9n D)
- 21 200/ 4 $910 0
o Fh)= 3f(e)(s)r f(/)\:(___/
7o 2 - -
(d) 6 o) z (4)= -¢.
(e) 4
If y = tan™? (%), where a and b are non-zero

constants, then i

dz _ a511X) A-L&m} |
j/, /_4__/ . <( ( +(bsinﬂ[la+am%)
- -
—sin z L alX = 2
(&) 1+ cos? x H/m) /4,900)()
ab sin x .
(b) (a — b cos x)? _ [xz# L)L}S”"Y
= 22—
(©) a® cos (a ,L&/ﬂ‘)?—:f (bt AC&'\)‘)

b2(1 4 sin®
| (o)
a? — b? = _'/—/_TMX.;-& e

()

z 2
(a — b cos z)? AL/@W%"w%-}b* Gpn K
&) 0 04 1Y) =
o/“ e | £en X
(a%42) + (st V)
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13.

14.

If the curves y = 3 — 22 and y = Az> + B intersect at (1,2)
and their tangent lines at that point are perpendicular, then
TA+ B =

" M

(b) 1 at x=NL 7 )' -z & 7/' A

(c) 2 :-)39:’,’/7/:;’/

@ o D= ,3(8,—2-5':;/‘
(e) 4 :)%4@:%—*%:‘28;3'

The function y = f(x) satisfies the equation
zy’ +y +zy =0, for all z. If f(0) =1, then f"(0) =

' ] " / - O

R R Aes

. X=o0 f/) =1
o) 3 / .

0+ 2y"(o) #0+] =

(c) 3 |
(d) 2 YA

1
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sin(20) — cos(56) + tan(36) +1

15. ki
0 950 sin(36) + cos(6 6) — tan(20) —

(a) 5 0. §in(2) B fi () «lo_ 1
o 6 e
(b) 4 9-—?0 =
5 (39)* tr (68) =) tun2y
(¢) 3 e & &
- £Z+3 _ 5
(d) 2 2 -2

(e) Does not exist

/
16.  If f(0) =1 and f'(0) = 2, then (f71)'(1) = ;——

mo i

-
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17.

18.

If f(z) = ze™", then f((0) =
(f™(z) : nt* derivative of f at )

’f/(a): Q—:?,u@-k-jf//o);/
f0)=-¢ «f(’*) £10)<-2
fﬂl(’): é /f”("‘) { ;///(0)23

56(4/@ Vs - '*,}”(A) — 1ti(‘*}(c,);—

()
(e) (~1)"- (2n) (o) )"

The equation of the normal line to y = sin(cos ) at (g, 0)

_ 2’: &3(x )+ (Sin%)
(a) y=x——2— _
9 (%, Yeoleo (7, WS ) = -
(b) y=z+ -
T \~——" 1\
(c) y—_x+‘2‘ {\/e’w\”\{ p/:Nl’s(AT). 3/4/
@) y=-z—y (M) (4-0)= 0 0= 57

() y=-gx+1 7)2:1_2
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19. Ify=(22)%, then y =
‘QMJ: 4x. ﬂ,n (2 7\)
/

(a) 4y(1+1n(2z))

(b) 4y(z + In(2z))

z_ b, L (2)  W2x)- 4
i,

j’ = LI'+ L/ﬁ"‘(L)(}

;/ z 4 (h‘-["(?—?‘))'}

(c) (4z)- (2z)*7"
(d) 8y In(2x)

(e) 4zy(l+1n(4z))

20. A piece of land is shaped like a right triangle. Two people
start at the right angle of the triangle at the same time, and
walk at the same speed along the two different legs of the
triangle. If the area of the triangle formed by the positions
of the two people and their starting point (the right angle)
is changing at 4m?/s, then how fast are the two people
moving when they are 5m from the right angle?

3
=) N ) ,
(a) 0.8m/s %\L ;4({)=.4A1w &3
(b) 1.6m/s BH’ 4‘,}5 :3 7<7<./
¢ k ) %/: xr
(¢c) 04m/s - p
(d) 2.0m/s Wl Xz §m = »X/: %;oﬂr/\%{/

(e) 24m/s



